BUSINESS STUDIES PAPER ONE

MARKING SCHEME

    1.       – Economic
· -Commerce

· -Accounting

· -Office practice

· Entrepreneurship

  2.
- Management style

· -Objectives

· -Personnel/labour

3. lead to high unemployment when they mature

· Puts pressure on social facilities

· Encourages rural urban migration

· Encourages social evil and crime rates

· Reduces savings and investments
· High government expenditure on their basic needs
· Increases the dependency ratio.

4.
Complex management due to increased operation
· Slow in decision due many consultations

· High average cost due to high output

· Not flexible due to huge investments

· High cost of inputs due to competition

· Limited size of market

· Poor labour relations due to lack of contact between workers and managers
5.
–     creation of unemployment
· formation of capital

· reduces rural-urban migration

· helps raise standards of living

· savings on imports

· improvement of infrastructure 

· reducing foreign dominance on the economy

· making use of local resources

· promotion of technology

· promotion of entrepreneurship culture
6.  – lack of secrecy in their operations
· require high capital to form

· the owners lack personal contact with customers and workers
· pay high corporation tax

· slow in decision making

· holds AGM’s which are expensive to organize

· shareholders do not take part in direct management
7. cheaper to construct/ set up
· supervision of workers is easier

· office space is well utilized

· cheaper to provide common/ shared office facilities

· enhance easy coordination of work

· reduces absenteeism

· improves communication between junior and senior workers

cheaper to maintain

  8.        - indicates the standard of living of a place in  a country

- measures a country’s rate of economic growth
-used to compare standards of living of people in different countries

- shows the contribution of each sector

- assist investors in making investment decisions

- used to show the distribution of national wealth

- provides information which is used in making economic policies, annual budgets

9.         – Allow investors to repatriate profits


- Improving security


- Low taxes


- Provision of free/ cheap land


- Provision of skilled labour

- Improvement of infrastructure


- Reducing inflation


- Privatization of firms


- Stabilizing of currency value
10.       – Deals exclusively with life


- May be used as security when applying a loan

- It has surrender value


- It has maturity date


- The policy can be assigned to beneficiaries


- It may be a saving plan


-  It is usually a long term contract

11.-  Supply reduces
Demand increases

There will be a shortage in the market

Black market for goods will arise

There will discrimination in selling

There will be rationing of goods

There will be hoarding of goods

12- When senior employees are providing training
· when seniors are evaluating performance of the junior employees

· when assigning duties to employees

· when management is solving problems affecting workers

· when the management wants to inspire/ motivate the juniors employees

· when seniors are evaluating performance of the junior employees.

13.- If he is dealing in perishable goods

· when demand is very high
· If he is located near the customers

· If he is dealing in fast moving goods

· If he deals with goods that require order

· If goods are of high value

14- Leads to  production of high quality products.
· Reduces government expenditure

· Reduces corruption

· Reduces political interference in the economy

· Leads to efficiency in management

· Helps the government to raise revenue

· Helps to attract foreign investors

· Leads to production of variety of products

15   Dr








                 


Cr
	Date
	Details
	Cash
	Bank
	Date
	Details
	Cash
	Bank

	Feb 1
	Bal. bld
	50, 000(
	
	Feb 1
	Bal. bld
	
	15, 000(

	Feb 2
	Debtors
	
	40, 000( 
	Feb 10
	Purchases
	10, 000(
	

	Feb 13
	Sales
	30, 000(
	
	Feb 12
	Creditors
	
	5, 000(

	
	
	
	
	Feb 14
	Bal. cld
	70, 000(
	20, 000(

	
	
	
	
	
	
	
	

	
	
	80, 000(
	40, 000(
	
	
	80, 000(
	40, 000(


     









12   x   1/2     
= 4 marks
16. 
- Failure to debit/ credit an account    
· Arithmetic error in an account

· Indicating a balance in the wrong column

· Entering wrong figures in an account

· Arithmetic errors in the trial balance

· Undercasting errors

· Posting a wrong balance to the trial balance

17- Comply with laws
· Be faithful

· Fight corruption

· Fairness in procurement

· Conserving environment

· Fairness in recruitment

· Be fair to others

18- May lead to pollution
· May lead to environment degradation

· May endanger lives due to land slides

· Mines get exhausted

· Over- reliance on mining may result into economic problems when prices fluctuate

19-General journal

· Cash receipt journal

· Sales journal/ sales day book
· Purchases return journal/ Returns outward journal

20- 
Requires large capital/ lack of capital
· lack of skills

· poor technology

· cultural backgrounds/ benefits

· land fragmentation

21.- Existence of few firm

· Products are identical/  close substitute
· Firms are interdepent in terms of price and output

· Have a kinked demand curve

· Price rigidity exists in the market

· Firms from cartels to cover their operations

22. 


	Transaction
	A/C Debited
	A/C credited

	(a)
	Bank
	Debtor

	(b)
	Purchases
	Creditors

	(c)
	Cash
	Bank

	(d)
	Creditor
	cash


23.
.Initial K = Final capital + Losses + Drawings -  Investments
     = 85, 000 
    + 6, 000 + 13, 000 - 33, 000(
     = 104, 000
    - 33, 000(
     = sh. 71, 000((
24.
- Government policy

· Profitability

· Levels of competition

· Cost of production

· Level of technology

· Availability of factors of production

· Availabity of capital

· Demand/ market

· Owners policy

25. - are large scale businesses 
· Have separate branches which are managed and organized centrally

· Sell at standardized price in all branches

· Each deals in the same type of goods

· Have similar shop front and interior layout
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